Systematics mitigation for PICO

Building an instrument that is perfect enough for systematics to be
negligible is impossible in practice (control T to P at the level of 10-).

Requirements would be to stringent for this to be
— doable in a reasonable time
— cost effective

Systematics must be corrected for in the data analysis pipeline.

This requires the exquisite knowledge of an adequate model of the
instrument.

While some of this knowledge can be obtained through prior calibration,
the best knowledge of the instrument will be obtained from the scientific
data themselves.

(Of course, lower systematics are better so instrument design is important)
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